4.1 Working With Ordered Pairs.notebook March 24, 2024

Solutions

Page 158 #s1-3,5-7,11, 13, 17

1. State the coordinates of each point in the diagram below.
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2. Plot each of the following points on a Cartesian plane.

a) (6,4) b) (7.0) c) (0.7)

d) (0,0)
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3. Consider the graph of a linear relation shown
on the right.

a) Explain what is meant when we say,
“The point (16,24) satisfies this
relation.”

b) State two other points that satisfy this
relation.
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5. The equation € =100+ 20n represents the total cost, in dollars, of a rental for n hours.

a) Does (2,140) satisfy this equation? Explain.
b) Interpret the meaning of the ordered pair (5,200) in the context of the given situation.

¢) Determine the total cost for a 7-hour rental.

d) Express the result from part (c) as an ordered pair.
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6. State the coordinates of each point in the 104y
diagram on the right. ' i
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7. Plot each of the following points on a 10
Cartesian plane. '
a) (-7.6) b) (6,-7) c) (0,-2) q).
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11. 1f the ordered pair (k,15.3) satisfies the equation
y=4.5x—16.2, determine the value of k.

3:: 4~Sx—)é.z

—  153=4sk-162
Solve Afov K
=, )5 4162 =ksk-l62+/62
3].5 = &Sk
5  *5

5 -k




4.1 Working With Ordered Pairs.notebook March 24, 2024

13. The diagram below shows the total number of views for two different videos over a period of one
week.
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a) State the coordinates of the point at which the two lines interestect.
b) Explain the meaning of the point of intersection. BSCD ﬂL“ ZS' :

17. The graph of a linear relation passes through the points (5,12) and (9,22) . Determine the
relation’s rate of change.
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